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2. An 80 m long rope with a mass density of 3 kg/m hangs over the edge of a tall building that is 100
m high.

(a) How much work is required to pull the entire rope to the top of the building? Express your answer
in terms of g.

(b) How much work is required to pull three quarters of the rope (ie.
the building? Express your answer in terms of 9.
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3. A force of 60 N is required i
2 O N is require
B };mr(d Fo hold a spring that has been strelched from its natural lensth of 19
- How much work is done in stretching the spring from 16 cm 1o 20 em? R o
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2. For what value of ¢ will the function below be a probability density function?
(solution: 5/8192)

{c(8x3 —zt) 0<z<38

0 otherwise
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Exampl.

- A rocket weighing 3000 kg is filled with 40000 kg of liquid fuel. In the initial
part of the flight, fuel is burned off at a constant rate of 2000 kg per 1000

meters of vertical flight. How much work is required to lift the rocket to
3000 meters? (solution: 120,000,000g J)
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